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𝟒𝟓° − 𝟒𝟓° − 𝟗𝟎° TRIANGLES 
 

The length of one side of ∆𝐀𝐁𝐂 below is given.  Use the relationship between the sides of a 

𝟒𝟓° − 𝟒𝟓° − 𝟗𝟎° triangle to find the lengths of the other two sides. 

 

1.  AC = ____________ 
 

     CB = ____________ 
 
 

AB = 7 

 

2.  AB = ____________ 
 

     CB = ____________ 
 
 

AC =  8 

 

3.  AC = ____________ 
 

     AB = ____________ 
 
 

CB = 4 

 

4.  AB = ____________ 
 

     CB = ____________ 
 
 

AC = 4 

 

5.  AC = ____________ 
 

     CB = ____________ 
 
 

AB = 2 

 

6.  AC = ____________ 
 

     AB = ____________ 
 
 

 

CB = 3 

 
7.  AB = ____________ 
 

     CB = ____________ 
 
 

 
AC = 6 
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8.  AB = ____________ 
 

     CB = ____________ 
 
 

 
AC = 14 

 
9.  AB = ____________ 
 

     CB = ____________ 
 
 

 

AC = 6√2 

 
10.  AC = ____________ 
 

       CB = ____________ 
 
 

 
AB = 15 

 
11.  AC = ____________ 
 

       AB = ____________ 
 
 

 
CB = 2 

 
12.  AB = ____________ 
 

       CB = ____________ 
 
 

 
AC = 3 

 
13.  AC = ____________ 
 

       CB = ____________ 
 
 

 

AB = 3√2 

 
14.  AC = ____________ 
 
       CB = ____________ 
 
 

 
AB = 4 
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